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Internal Assessment Test 3 — May 2018
Sub:  Engineering Mathematies 11 Sub Code:  17MAT21
- Date: 21052018 Duration; 90 mins Max Marks: 30 Sem/ Sec: IVAE&G Loon _
Question 1 is compulsory and answer any SIX questions from the rest. MARKS CO [ RB

I (a} E.\"'ElIUatC L{M} (b) Evaluate I.J{EEB_StSinzt}. [08] 06

2, - T - ; i E for0<t<a [071 CO6 L3
- : T A Vit ; - = ]
A periodic function of period 2a is defined by, f(t) [—E fora<t<2a where
E is a constant. Show that I..{l'{l)}=% tanh (3;)
cost 0<t<m [07] CO6 13
3. Express f(t) = {cos2t m <t < 2w interms of unit step function and hence find

) cos3t t>Zm
its Laplace transform.

4. Solve y"(t) — 2y'(t) + y(t) = et subject to the conditions, y(0)=2, y'(0) = —1 [07] CO6 1.3
by using Laplace transform.

Find 1__."{ !

(s+1)(s2+9)

[07] CO6 1.3

h

} by using Convolution theorem.
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Question 1 is compulsory and answer any SIX questions from the rest. ViA Ri;.\ O | RI';'_!'

L. (a) Evaluate I{M} (b) Evaluate L{t?e " *‘sin2t}. [08) €06 13

or <t < 07] CO6 L2
E for0st=<a o (07]

A periodic function of period 2a is defined by, f(t)= {—E fora < t<2a

E is a constant. Show that L{f(t)}== canh( )

cost O0<t<m [07] CO6 L3
3. Express f(t) = §c052r m <t < 2m interms of unit step function and hence find
cos3t t>12m
its Laplace transform. -
4. Solve y"(t) — 2y'(t) + y(t) = e* subject to the conditions, y(0)=2, ¥'(0) = —1 (071 €06 L3
by using Laplace transform.

5. - = | 1
Find L {(s+1){sz+9)

o ; 7] CO6 13
}by using Convolution theorem. [l ees




Evaluate j i[ ]i(x2 +y? + 27 )dxdvdz.

—c=h-a

i dxdy by changing the order of integration.

2

Evaluate the double integral ” >
oy ¥t

Find the area enclosed by the curve r=a (1+cosf) above the initial line.

Evaluate ”e'("g”z)dxdy by changing into polar coordinates.
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(2) Find L { 27— (m)} (b) Find {iog—sml)}.

Evaluate j[ T j(x2 + y? + 2" )dxdydz .

-c=h-a

aa

Evaluate the double integral ”
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X

T oo
x'+y

dxdy by changing the order of integration.
Find the area enclosed by the curve r=a (I+cosf) above the initial line.

Evaluate ”e'“z”z’dxdy by changing into polar coordinates.
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